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Index: 0, Unicode:

Nodes: 487, Contours: 20
BBox: (0, 0) - (2805, 302)
LSB: 0, RSB: -5, Width: 2800
Isb: 800, rsbh: 804, width: 1196
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Index: 2, Unicode: 0063
Nodes: 505, Contours: 29
BBox: (0, 0) - (2798, 309)
LSB: 0, RSB: 2, Width: 2800
Ish: 486, rsb: 501, width: 1813
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Index: 4, Unicode: 0065
Nodes: 418, Contours: 22
BBox: (0, 0) - (2780, 393)
LSB: 0, RSB: 20, Width: 2800
Ish: 159, rsb: 179, width: 2462
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Index: 6, Unicode: 0067
Nodes: 218, Contours: 6
BBox: (0, 0) - (2822, 298)
LSB: 0, RSB: -22, Width: 2800
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Index: 8, Unicode: 0069
Nodes: 224, Contours: 8
BBox: (0, 0) - (2794, 298)
LSB: 0, RSB: 6, Width: 2800
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Index: 10, Unicode: 006B
Nodes: 474, Contours: 4
BBox: (0, 0) - (2798, 390)
LSB: 0, RSB: 2, Width: 2800
Ish: 578, rsbh: 584, width: 1638
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Index: 12, Unicode: 006D
Nodes: 255, Contours: 8
BBox: (0, 0) - (2794, 397)
LSB: 0, RSB: 6, Width: 2800
Ish: 481, rsb: 480, width: 1839
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Index: 14, Unicode: 006F
Nodes: 166, Contours: 6
BBox: (0, 0) - (2800, 428)
LSB: 0, RSB: 0, Width: 2800
Ish: 296, rsb: 296, width: 2208
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Index: 16, Unicode: 0071
Nodes: 130, Contours: 1
BBox: (0, 0) - (2796, 308)
LSB: 0, RSB: 4, Width: 2800
Ish: 1390, rsb: 1386, width: 24
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Index: 18, Unicode: 0073
Nodes: 146, Contours: 1
BBox: (0, 0) - (2800, 244)
LSB: 0, RSB: 0, Width: 2800
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Index: 20, Unicode: 0075
Nodes: 193, Contours: 1
BBox: (0, 0) - (2800, 288)
LSB: 0, RSB: 0, Width: 2800
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Index: 22, Unicode: 0077
Nodes: 807, Contours: 20
BBox: (0, 0) - (2805, 312)
LSB: 0, RSB: -5, Width: 2800
Ish: 641, rsb: 631, width: 1528
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Index: 24, Unicode: 0079
Nodes: 149, Contours: 3
BBox: (0, 0) - (2801, 400)
LSB: 0, RSB: -1, Width: 2800
Ish: 525, rsb: 521, width: 1754
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Index: 1, Unicode: 0062
Nodes: 578, Contours: 20
BBox: (0, 0) - (2801, 407)
LSB: 0, RSB: -1, Width: 2800
Isb: 296, rsh: 301, width: 2203
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Index: 3, Unicode: 0064
Nodes: 506, Contours: 16
BBox: (0, 0) - (2801, 404)
LSB: 0, RSB: -1, Width: 2800
Ish: 1, rsh: 5, width: 2794
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Index: 5, Unicode: 0066
Nodes: 111, Contours: 2
BBox: (0, 0) - (2798, 302)
LSB: 0, RSB: 2, Width: 2800
Ish: 671, rsh: 947, width: 1182
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Index: 7, Unicode: 0068
Nodes: 321, Contours: 13
BBox: (0, 0) - (2808, 298)
LSB: 0, RSB: -8, Width: 2800
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Index: 9, Unicode: 006A
Nodes: 294, Contours: 16
BBox: (0, 0) - (2801, 298)
LSB: 0, RSB: -1, Width: 2800
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Index: 11, Unicode: 006C
Nodes: 219, Contours: 12
BBox: (0, 0) - (2794, 397)
LSB: 0, RSB: 6, Width: 2800
Ish: 229, rsh: 240, width: 2331
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Index: 13, Unicode: 006E
Nodes: 430, Contours: 15
BBox: (0, 0) - (2794, 407)
LSB: 0, RSB: 6, Width: 2800
Isb: 384, rsb: 383, width: 2033
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Index: 15, Unicode: 0070
Nodes: 367, Contours: 5

BBox: (0, 0) - (2800, 484)

LSB: 0, RSB: 0, Width: 2800
Ish: 1048, rsh: 1046, width: 706
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Index: 17, Unicode: 0072
Nodes: 142, Contours: 1
BBox: (0, 0) - (2800, 316)
LSB: 0, RSB: 0, Width: 2800
Isb: 996, rsb: 988, width: 816
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Index: 19, Unicode: 0074
Nodes: 162, Contours: 2
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: 0, Width: 2800

\%

Index: 21, Unicode: 0076
Nodes: 170, Contours: 5
BBox: (0, 0) - (2798, 291)
LSB: 0, RSB: 2, Width: 2800
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Index: 23, Unicode: 0078
Nodes: 471, Contours: 11
BBox: (4, 0) - (2798, 499)
LSB: 4, RSB: 2, Width: 2800
Ish: 372, rsh: 371, width: 2057
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Index: 25, Unicode: 007A
Nodes: 390, Contours: 3
BBox: (0, 0) - (2790, 420)
LSB: 0, RSB: 10, Width: 2800
Isb: 198, rsh: 208, width: 2394



